TR KEILICE I HERERE(RER O RRER)

Rk R LER

BHABEZDESR SERBhDERE
B B & & 144A0147

] it £ fEIL-2

il £ ih B8 b v ST 3R X A LU
HOE ¥ M B L iRELE KA

e S

-__;;U |
LA

LR e

SR
et B

j } M Y Sl 9 R
. . adhl ¢

HHTS
WPk o |
o T

1/200,000

NG R,
1 Bergld ..‘%ré .

B E(S=1:200,000)

[E 1 Hh FE G2 D B F1 K1 200000[75841.) % LN EF- 1 7% K1 25000/ 584161 )% 15 8¢




DIEMORREX RS
HX3—1 BEOEINOHELH ELLEENEITNOHETHORER _ EEET N PRI
= 18 M M 0 B BES | 74240747 | EETE LI |__FnfEsh SO LRI

=

=

==

Ll —

-

LB -iﬁﬁ”j MRS BEDSEFNOH DL DR T REOBHLE AP 100N/ MEHE 2 D EE

A T 3 ELLVEEDEThOHZ DX /3 TRZ0HBESNIMEBADIEHE




RIER D B IR R R E

Jr%-ts 2 EEYIERT SLBESNSHEICHT HRE1/2) _ _ REEE | 29TE
= tﬁﬂﬂﬁ@u% | %Fﬁ%ﬁ \ 144A0147 | B4 \ AEIL-2 | Fr7EH | LW 777 LR X B
y SMERH O T inICBEET 5Lt SfERH A
ﬁf&g TREOBBODEILADKRES TREDHBEBSSLADKRES TREOBHOEILADKRES TREDHESSLNDKRES
=2 = i HN YR HVE | = = PR HVE =3 i HN = =S
; 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
Zh LS — -~ = — | Zh st -~ = — — Zh LS — — ~ — —| 2h st — ~ — — —
2 100kN/mMZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#Z B -~ — — —
Zh LS — -~ = — | Zh st -~ = — — Zh LS — — ~ — — | 2h st — ~ — — —
3 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#Z B -~ — — —
Zh LS — -~ = — | Zh st -~ = — — Zh LS — — ~ — —| 2h st — ~ — — —
4 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#Z B -~ — — —
Zh LS — -~ = — | Zh st -~ = — — Zh LS — — ~ — —| 2h st — ~ — — —
5 100kN/mMZ#B % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZE#Z B -~ — — —
Zh LS — -~ = — | Zh st -~ = — — Zh LS — — ~ — —| 2h st — ~ — — —
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18 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 756 96.73 | =hUS | 000 ~ 756\ 1.99 10.65 znLs 1.00 |1 6.00 ~ 10.90 96.73 | =N | 5,00 ~ 1090 1.99 10.65
17 100kN/m%Z#BZ5| 1.00 | 000 ~ 028| 104.16 |3mEBZB| — ~ — — — | 100kN/m%#825% | 1.00 | 1054 ~ 11.31 104.16 |3mZi#BZ % -~ — — —
ZznLst 1.00 | 0.28 ~ 807 100.00 | =nllst | 000 ~ 807] 216 11.57 znLs 1.00 1 6.00 ~ 10.54 100.00 | =hs | 5,00 ~ 1131|216 11.57
18 100kN/M%Z#BZ5| 1.00 | 000 ~ 028| 104.16 |3mEBZB| — ~ — — — | 100kN/m% 825 | 1.00 | 1054 ~ 11.31 104.16 |3mZ#BZ 5 -~ — — —
ZznLst 1.00 | 0.28 ~ 807 100.00 | =nllst | 000 ~ 807 1.75 9.38 znLs 1.00 1 6.00 ~ 10.54 100.00 | =hSt | 5.00 ~ 1131 1.76 9.38
19 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/mMi%# %% — - ~ — —|3mZE#Z B -~ — — —
ZznLst 1.00 | 0.00 ~ 6.90 87.37 | #hst | 000 ~ 690\ 1.99 10.67 znLs 1.00 | 5.00 ~ 9.60 87.37 | =N | 5.00 ~ 9.60 )| 1.99 10.67
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27 100kN/mMZ#8 % % — -~ = —|3mZE#BZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B -~ — — —
ZznLst 1.00 | 000 ~ 6.31 79.25 | #nLs | 000 ~ 0.00)1.57 8.39 znLs 1.00 | 5.00 ~ 819 79.25 | EnhLS | 500 ~ 819 | 1.57 8.39
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